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||a| − |b|| ≤ |a − b| ≤ |a| + |b|

PRQTS7U*VXWZYXWZ[rq�^`_Racb=dfehghi�j,i�kml�nokfsDe�k
a, b, c ∈ R
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w�x
a2 + b2 + c2 ≥ ab + bc + ac

y x (a + b)(b + c)(a + c) ≥ 8abc

V x
a2b2 + b2c2 + a2c2 ≥ abc(a + b + c)

PRQTS7U*VXWZYXWZ[Gz�^`_Raci�k|{�k0i`}XuDj,vca
x ∈ R

e�d�~od=e�d@�.�Iate���j,ghg�k�vtk|e�k0�fuok0~Xgha
�Iatehu.�fuDj,�fvca�j,~.�Tkfp
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� ?.� |x2 − 3x + 2| < x + 1
� KF� ∣

∣

∣

|x+1|+3

|2x|+1

∣

∣

∣
≤ 4

� '�� |2 tan2 x − tan x| < 2� %F� |√3 sin x − cos x| ≤ 1
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sin x−cosx

4 sinx+9
≥ 0� KF�

cos(2x) + cos(x) < 0� '�� √
3 sin x − cos x + 1 < 0� %F�

(4 −
√

6) sin2 x −
√

6 cos2 x + 2
√

3 sin x > 2
√

2 sin x� )��
4 sin x tanx − 3

cos x
< 0
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3x − 5 · 31−x ≤ 2� KF�
3x−1 > 4x+1
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log 1

2

(x2 − 1) > 0
� KF�

log x + log(x + 3) < 1� '��
2 log0,7(x + 1) − log0,7(x − 1) > log0,7(3x − 1)� %F�
log 1

2

(7 − 2x) − log 1

2

(5 + 4x) + log 1

2

7 ≥ 0

� 8������ £I� � �*���X��� �X�I� � �
� ?.� | cos x| < 1√

2� KF� | log9(2x
2 − x + 1) − log3(x − 2)| ≤ 1� '��

log2(2 sin2 x − sin x + 3) > 2� %F�
2 log 1

2

tanx ≤ log 1
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